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NE SIS (JEL-TRSPN SH XS
M oy Y =7
SRl MUY 2 KX EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OXAMLUE =& 3,800
OgMu= 5,500
SE=EE UAsgHHAEgs 23 14,446 10,730 3,716
201 Let249] 7,000 3,800 3,200
01 At 22l 5,500 3,800 1,700
o&d=, £Ms, = 7L 5,500
03 &AL2 Z I 1,500 0 1,500
ONsSeHHHE S Ol FH A 1,500
301 LeHEAF 7,446 6,930 516
09 &AL HIXI &3 5,026 4,730 296
O3o(nE) S4H ¥ WsSH 4,026
OXSYMHAS S 0lFHGA (L2F) 1,000
12JIEt2 43 2,420 2,200 220
O M= 2,420
ANz NS X 25,000 25,000 0
308 AAEHHSOIA 25,000 25,000 0
01 HXNHHNBHELS 25,000 25,000 0
on-te St 22,000
OLloe & =2X& 3,000
Z012E 143,000 133,000 10,000
201 Let24d] 53,000 53,000 0
01 At 2teltl 53,000 53,000 0
OZ=ol2EIe 2= M& 3,000
OS=i28ity 88 21s 50,000
308 XtXIEHHSOIA 90,000 80,000 10,000
01 X HHILEES 90,000 80,000 10,000
OS2 M 90,000
Z G Y| 112,500 0 112,500
308 MtXIEHMSOIH 112,500 0 112,500
01 HXNHHBHELS 112,500 0 112,500
O F=&H 92,500
O0s% HIAY 20,000
ATOLAE AlH 2 Q15| 133,200 0 133,200
= 108,000
< 25,200
403 MtXISHE X201 E 133,200 0 133,200
= 108,000
< 25,200
01 X SHHA2E= 133,200 0 133,200




= A SN THATHE D
ooy 2 o=
MY E S22 (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OXTHH AIEE 1T KEAE 133,200
= 108,000
< 25,200
TH ol <1 & X = & Hl 54,074,000 52,642,700 1,431,300
= 42,054,500
=) 12,019,500
THoH R X7 A 43,732,700 41,403,100 2,329,600
= 33,639,000
=) 10,093,700
202 oddl 2,000 2,000 0
01 2LH01 bl 2,000 2,000 0
OMoHAE A= ZHIAY =& Ol 2,000
403 A X EHHS =0l A 43,730,700 41,401,100 2,329,600
= 33,639,000
< 10,091,700
01 X HHMA=LE L 43,730,700 41,401,100 2,329,600
OMoHAE X7 A 43,730,700
= 33,639,000
=) 10,091,700
SYAMK SUABXNS FHIAY 3,966,600 5,708,600 A1,742,000
2 3,050,000
S 916,600
202 O4dl 1,600 1,600 0
01 2Ly 0t 1,600 1,600 0
OSZ ALK SUAEXNS FHIAMY =& 0l 1,600
403 MHXISHE X201 E 3,965,000 5,707,000 A 1,742,000
= 3,050,000
< 915,000
01 X SHHA2E = 3,965,000 5,707,000 A 1,742,000
O=Z A SUASXNS HUAL 3,965,000
= 3,050,000
< 915,000
SAENBAE ST AY 2,001,500 5,498,500 3,497,000
2 2,001,500
403 A X EHHS 20l A 2,001,500 5,498,500 A 3,497,000
= 2,001,500
01 X EHHMA=LE L 2,001,500 5,498,500 A 3,497,000
Of=MFIAE XA 2,001,500
= 2,001,500
Mol ?I® M==Xl EHIAS 941,200 32,500 908,700
= 724,000
< 217,200
403 MtXSHHS =0l & 941,200 32,500 908,700
= 724,000




A=
M ooy o =7
CH2: MO E X2 EHI (&2 &)
S 2N BB (BH) - SN - B2 0 Ak o8 ﬁlf& HDS2
=] 217,200
01 MXHHMAEE = 941,200 32,500 908,700
OMAE M=Kk HHIALS 941,200
=2 724,000
& 217,200
S+l MEH SESEUAY 3,432,000 0 3,432,000
= 2,640,000
o= 792,000
403 XX S M S K201 A 3,432,000 0 3,432,000
= 2,640,000
& 792,000
01 AIXISHMA2E X 3,432,000 0 3,432,000
OSxoll M8 SSIHHAY 3,432,000
= 2,640,000
== 792,000
NAXGHGIEESHA XS 79,269,000 105,026,000 N 25,757,000
= 2,500,000
E~ 600,000
= 76,169,000
OF & H of Ol &+ A S 69,891,000 71,480,000 A 1,589,000
SHA GAXI P Lol ASKNLAIL (HEAY) 5,700,000 6,000,000 300,000
401 Al HIL 200 5,700,000 6,000,000 300,000
01 Al&HI 5,348,000 5,490,000 A 142,000
Ostd Y AKX 7 ol &S K& AN 5,348,000
02 2eltl 350,000 500, 000 A 150,000
Osta GA2X 7 o a S K& AN 350,000
03 A& 20 b 2,000 10,000 A 8,000
Ot HAX 7 ol &S X & AN 2,000
ZEHAE HEXNR oA SKIHLAIS (HEAS) 1,584,000 3,000,000 A 1,416,000
401 Al B 2 0HHI 1,584,000 3,000,000 A 1,416,000
01 Al&H| 1,583,500 2,990,000 A 1,406,500
OF2Ed HEXNT ol SXINEAS 1,583,500
03 A& £ 0HH| 500 10,000 A 9,500
OF33d HEXNT soldSXINEAS 500
SAM SHASKIIHNLAS (HEAY) 4,668,000 4,000,000 668,000
401 Al HIL 200 4,668,000 4,000,000 668,000
01 Al& H| 4,667,500 3,990,000 677,500
ORAA A SXIHE AL 4,667,500
03 A& 2 0HH| 500 10,000 A 9,500
ORAE &SR HE AL 500
BN LOHASKIMEAIY (M EAIY) 3,600,000 5,000,000 A 1,400,000




A= et A M ¢ RHATH Rt
Hu: NOES NG HBEEY
Ch2l: SF& TH ol Ofl 2 AF (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 3,600,000 5,000,000 A 1,400,000
01 A& HI 3,599,500 4,990,000 A 1,390,500
O solatsXIHA AL 3,599,500
03 A2 S THHI 500 10,000 A9,500
O™ oS X AL 500
QIUE =GHASKIIN S AL (X EHANR) 4,500,000 5,696,000 A 1,196,000
401 AIEHIZL 2CHYI 4,500,000 5,696,000 A 1,196,000
01 A& Hl 4,096,000 5,186,000 A 1,090,000
O2Itd oS XIHE A 4,096,000
02 2feldl 400,000 500,000 A 100,000
O2Itd ol &S XKL A 400,000
03 A2 2 THHI 4,000 10,000 A 6,000
O2Itd ol &S XIHE ALY 4,000
HESd KLGHEZH ALY (HEAY) 5,700,000 2,700,000 3,000,000
401 A& HIZ 201 Y| 5,700,000 2,700,000 3,000,000
01 A& HI 5,295,000 2,391,400 2,903,600
Ogsd XYstEFH ALY 5,295,000
02 2eltl 400,000 300,000 100,000
OZsd XNEotEZHlAY 400,000
03 Al 2 THHI 5,000 8,600 A 3,600
Ogsd XYstEFHIAY 5,000
St Z X7 XNLotEHUIAIG (HEAY) 5,700,000 3,000,000 2,700,000
401 Al HIZ 2018 5,700,000 3,000,000 2,700,000
01 A& HI 5,499,500 2,790,000 2,709,500
Ogtd 23X+ XLotEEH AL 5,499,500
02 Zeltl 200,000 200,000 0
Ogtd 23X 7 XNLotEEH AL 200,000
03 Al SR THHI 500 10,000 A 9,500
Ogtd 23X+ XotEEH AL 500
EUR AKX XLSHEFZHIAI (M EAR) 4,000,000 4,000,000 0
401 AIEHI L 20 4,000,000 4,000,000 0
01 A& HI 3,598,000 3,590,300 7,700
Oxd X+ XNLotEZH ALY 3,598,000
02 Zeltl 400,000 400,000 0
Ogdd FAXF XYdHE EHI ALY 400,000
03 Al S THHI 2,000 9,700 AT7,700
Ozgd X+ XNEotEZH ALY 2,000
PHA BEHITP XLt FHIAI (HEALS) 2,774,000 4,000,000 A 1,226,000




AR oA A SH XS
M NAHSNG AT
Sl OoF & THoH Ol 2 ALY (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
TAIEHI &R 2,774,000 4,000,000 A 1,226,000
01 A& HI 2,773,000 3,990,000 A 1,217,000
OFd BHEXF XNLoEZH ALY 2,773,000
03 A2 S THHI 1,000 10,000 A9,000
O&&d BHXF XNLotEZH ALY 1,000
Zed XYGHE ZH ALY (HEALY) 4,000,000 3,000,000 1,000,000
401 AIEHIZL 2CHYI 4,000,000 3,000,000 1,000,000
1T AIZHI 3,799,500 2,790,000 1,009,500
O NYStAEFZH AL 3,799,500
02 2feldl 200,000 200,000 0
O&FEd XNEot&EEHlAY 200,000
03 A2 2 THHI 500 10,000 A 9,500
OZgd Xgsta FHI ALY 500
HE& &K XYEHE AL (M AN ) 1,500,000 3,000,000 A 1,500,000
ANEHI &b 1,500,000 3,000,000 A 1,500,000
01 A& HI 1,497,000 2,690,300 A 1,193,300
OUEE HEXI+ XIotE EHIAHY 1,497,000
03 AIE =2 THHI 3,000 9,700 A6,700
OUEE HEX - XEotd B ALY 3,000
Agd AEXT XLt FHIAI (HEALS) 3,200,000 3,000,000 200,000
401 AIEHI L 2CHEI 3,200,000 3,000,000 200,000
A& HI 2,999,500 2,790,000 209,500
O&gd AEX= XNLotEZH ALY 2,999,500
02 2feldl 200,000 200,000 0
O&dgd AEX~+ XNEotdEZH ALY 200,000
03 Al 2 THHI 500 10,000 A 9,500
OXgd AgX+ XgotE EH ALY 500
JHE& AN 7 XNYotE A (HsAR) 3,500,000 3,000,000 500,000
T AIEHI SR 3,500,000 3,000,000 500,000
01 A& HI 3,299,000 2,790,000 509,000
OJZ& JHEXF XYotE EHI ALY 3,299,000
02 2teldl 200,000 200,000 0
Ot & IJtd X+ XNEotEZH ALY 200,000
03 AlZ 2 THHI 1,000 10,000 A 9,000
OJZ& BN 7 XY5HE EHI ALY 1,000
SHHA SHAIX 7 XYot& AL (HBAIY) 3,400,000 3,000,000 400,000
401 Al HIZ 2 048I 3,400,000 3,000,000 400,000
01 A& HI 2,899,500 2,690,300 209,200




N ELCIT PN SH XS
Hu: NOES NG HBEEY
Sl ob & XHoH ol 2t AFY (e &)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
OStAHIE SHX P XUSHE U ALY 2,899,500
02 2eltl 500,000 300,000 200,000
OstHlE SHAHXI 7 XI&otE ZHI AL 500,000
03 A& 20HbI 500 9,700 A9,200
OStAHIE SHX P XUt U ALY 500
OHLHA COHUHXI P XIUGIEZHIAS (HSAIY) 200,000 400,000 200,000
401 Al HI L £ 0HHI 200,000 400,000 200,000
01 A& HI 198,600 397,120 A 198,520
OCtU & OHLHXI 7 XI&otE ™ HIALS 198,600
03 A& 20HH| 1,400 2,880 A 1,480
OPCHU A OHLHXI 2 XI&totE EHIALY 1,400
HEM SN F XL HBIAISE (HEAIY) 2,500,000 2,000,000 500,000
401 Al HI L 2 0HHI 2,500,000 2,000,000 500,000
01 A& HI 2,299,500 1,594,300 705,200
OFHEHA SA2X 7 XUotd U ALY 2,299,500
02 2teltl 200,000 400,000 A 200,000
O&FGE sU2X 7 XNLUSHEFH ALY 200,000
03 A& 2B 500 5,700 A5,200
OXEA SA2X 7 XLotAZH ALY 500
AWE AWXT XUSHE ™Y AIE (HEAY) 200,000 400,000 200,000
401 Al HI L £ 0HHI 200,000 400,000 A 200,000
01 A& HI 198,600 397,120 A 198,520
OL0&E AWK XGHEZHIALS 198,600
03 A& 20HH| 1,400 2,880 A 1,480
OL0A AWK F? XotE ZHALE 1,400
AMOIZ=& AIOI SR Kot HHIAI (HEAY) 1,500,000 2,000,000 500,000
401 Al HI YL 2 0HHI 1,500,000 2,000,000 A 500,000
01 A& HI 1,098,000 1,594,300 N 496,300
OAMOI=& AMOI=X 7 XotdEBlALS 1,098,000
02 2eltl 400,000 400,000 0
OAIOI =& AIOI= X7 X &totd &HlALS 400,000
03 A& 2 0HYI 2,000 5,700 A 3,700
OAMOI=& AMOI=X T XotdABIALS 2,000
BEA B2XF XNUotEZHIAIS (HEAIY) 200,000 200,000 0
401 Al HI L £ 0HHI 200,000 200,000 0
01 A& HI 198,600 198,600 0
OB&A B2XN 7 XYSHEZHALS 198,600
03 A& 20HH| 1,400 1,400 0




M ox
40 5 4

- RE]
SA - B .G (3H) - AEAY - BYS %Ei HR=2

OBEA B2X P XotEZHALE 1,400

oYU GIPUX 7 XLUSHEEUIAY (HEAY) 2,000,000 2,000,000 0

401 AlEHIZL £ 0HY| 2,000,000 2,000,000 0

01 Al&H| 1,999,000 1,992,800 6,200
Ot & & ot X7 KNLetE U ALY 1,999,000

03 Al 201 Y| 1,000 7,200 N6,200
Oodt A ot XF7 KNLotE HE ALY 1,000

AXM 2AXT XS EH ALY (HEAIY) 2,700,600 1,000,000 1,700,600

401 AlEHIZL 2 0HY| 2,700,600 1,000,000 1,700,600

01 Al&H| 2,698,600 995,000 1,703,600
O24A 2AXF XUt EH ALY 2,698,600

03 Al E2HH] 2,000 5,000 A 3,000
ORMA R2AXNF NS EHH ALY 2,000

M 22X XNLUSIEEHAIS (HEAY) 1,500,000 1,000,000 500,000

1T AIEHZ 2L 1,500,000 1,000,000 500,000

1 Al& H| 1,098,000 993,700 104,300
OSsd 2d=2X+F XeotdAH AS 1,098,000

02 2eldl 400,000 0 400,000
OSd =X+ Aeste AL AL 400,000

03 Al 204 Y| 2,000 6,300 A4 ,300
OS8d Z2=2X7 KNLotE™H ALY 2,000

25d 23K F XL BH AL (HSAY) 200,000 800,000 A 600,000

401 AIEHIZL 2 0HY| 200,000 800,000 A 600,000

01 Al&H| 198,600 795,000 A 596,400
Ossd SotXP XotEZH AL 198,600

03 A& E2HH] 1,400 5,000 A 3,600
Ossd 23 XF NSt EH ALY 1,400

S A SR XU B AL (HESAY) 200,000 800,000 A 600,000

AEH Y200 200,000 800,000 A 600,000

01 Al&H| 198,600 795,000 A 596,400
2ed 29X R XLotE ™ ALY 198,600

03 AlE 20| 1,400 5,000 A 3,600
O2Yd 2EUXF XNLUSHE HH ALY 1,400

S A SHE X P X LUSHEEHIAL (HEAY) 200,000 800,000 A 600,000

401 Al HI L 2 0HHI 200,000 800,000 A 600,000

01 Al & H| 198,600 795,000 A 596,400
OstEA SHE X7 XYotE HH ALY 198,600

03 AlE 201 1,400 5,000 A 3,600




A2 T LHOHA AL 2A NESEDUR= i3
M QMG NG HBYES
CHRl: oL & THOH Ol & AL S (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 gﬁ‘&i HR=2
Ost A SHEZ X P X &otE ZHALE 1,400
05 AEXNT? XNLSIEZH AL (MEALS) 200,000 800,000 A 600,000
401 AlEHIZL £ 0HY| 200,000 800,000 A 600,000
01 Al&H| 198,600 795,000 A 596,400
Oflgd 88X T XNLUSHE HH ALY 198,600
03 Al 201 Y| 1,400 5,000 A 3,600
Oflagd 88X F XNt EH ALY 1,400
KAt AT R XL B AL (HSAY) 100,000 800,000 A 700,000
401 AlEHIZL 2 0HY| 100,000 800,000 A 700,000
01 Al&H| 99,300 795,000 A 695,700
Oqetd {8X P XotEZHALE 99,300
03 Al E2HH] 700 5,000 A4 ,300
Odetd Je8XF NSt HH ALY 700
HEA AR XLSIEZEH AL (HEAY) 200,000 800,000 A 600,000
1T AIEHZ 2L 200,000 800,000 A 600,000
1 Al& H| 198,600 795,000 A 596,400
OUEA YAXF XLt EH ALY 198,600
03 AlE 21| 1,400 5,000 A 3,600
OUEA QAKX F XLSHE AU ALY 1,400
DOFE DOFK T XLt EHUIAS (HEAY) 200,000 0 200,000
401 Al HI L 2 0HHI 200,000 0 200,000
01 Al& H| 198,600 0 198,600
OO0 DOFKF XNZYotE HH ALY 198,600
03 AlE 21| 1,400 0 1,400
ODN0FE DOFKI P X &otdE ZHI AL 1,400
HEH HEX P XNUSHEZHAMY (HSAY) 700,000 0 700,000
401 Al HI L £ 0HHI 700,000 0 700,000
01 Al&EH| 696,000 0 696,000
OHEA HEXF XNLUSHE HH ALY 696,000
03 Al&E 201 Y| 4,000 0 4,000
OHEHA HEXF XNLotEEH ALY 4,000
ObLt ™ OFLE | 2 XSG ZHIAIS (D EAFS) 700,000 0 700,000
401 AlEHIZL £ 0HY| 700,000 0 700,000
01 Al&H| 696,000 0 696,000
OO0t d ot X7 XIot™E EH ALY 696,000
03 Al 201 Y| 4,000 0 4,000
OOt A Ot X2 XIYotE U ALY 4,000
DEO| A MUIAH (HESALY) 2,564,400 1,680,000 884,400




NE SIS (JEL-TRSPN SH XS
M NAHSNG AT
Sl OoF & THoH Ol 2 ALY (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 2,564,400 1,680,000 884,400
01 HXSHIEEE 2,564,400 1,680,000 884,400
Ongel & FHlA 2,564,400
ot FHIJIgt 2= 1,500,000 1,200,000 300,000
otEJl=AH &l =8 1,200,000 1,200,000 0
401 Al HIZ 201 Y] 1,200,000 1,200,000 0
01 A& HI 1,193,040 1,193,040 0
Ost&JIENHe =8 1,193,040
03 Al S THHI 6,960 6,960 0
OstdJI=H & =8 6,960
SE=E NLotE S EHAHE =8 300,000 0 300,000
401 Al HI K 201 I 300,000 0 300,000
01 A& HI 297,840 0 297,840
OFESL XNYotdSSEHHE =8 297,840
03 A& =TI 2,160 0 2,160
OsE=LE NLotdSEEHHE =8 2,160
St S X 2tel At 7,878,000 32,346,000 A 24,468,000
= 2,500,000
EN 600,000
< 4,778,000
A LoHE K 2el AL 2,500,000 1,500,000 1,000,000
403 A X EHHS =0l A 2,500,000 1,500,000 1,000,000
01 X SHHN2E = 2,500,000 1,500,000 1,000,000
OXgotd =Xl 2el At 2,500,000
StE R 2el =& Ja=EH| 26,000 26,000 0
201 £B-2d| 26,000 26,000 0
01 At 22/l 26,000 26,000 0
Ot & ==ZHl 26,000
=S Itot&E S X 2 el At 2,500,000 2,500,000 0
= 2,500,000
403 MtXSHHSA=0l& 2,500,000 2,500,000 0
= 2,500,000
01 AXISHHA2E = 2,500,000 2,500,000 0
O=Jtot&E F X 2l AL 2,500,000
= 2,500,000
Aesotd DI28X 24 1,000,000 1,000,000 0
401 AIEHI L 2 CHYI 1,000,000 1,000,000 0
01 A& HI 994,000 994,000 0
OXYgotd DI=2X B4 994,000
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NE SIS (JEL-TRSPN SH XS
M NAZS IS LS
& StE KX 22l ALY (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
03 AlE 2 THHI 6,000 6,000 0
OXgstd DI=2EX 24 6,000
St EHIALY 52,000 132,000 280,000
403 MtXISHHE X201 & 52,000 132,000 A 80,000
01 AXISHH A2 E= 52,000 132,000 280,000
Oot& ZHlAY 52,000
=& A2 MaX A48AMd 1,200,000 2,600,000 A 1,400,000
403 A X EHHS =0l A 1,200,000 2,600,000 21,400,000
02 BJI2SHUS =R AAE AL 1,200,000 2,600,000 A 1,400,000
OU=" A2 M==Xl AEAEY 1,200,000
QA2 10HA THOH O AL 300,000 0 300,000
N 300,000
403 UHXSHHSA=0l& 300,000 0 300,000
EN 300,000
01 HXHMA=LE X 300,000 0 300,000
OLdAL 10 THOH O AL 300,000
EN 300,000
S2H2 1A THOHO AL 300,000 0 300,000
N 300,000
403 X SHHE =0l & 300,000 0 300,000
N 300,000
01 AXISHHA=2E = 300,000 0 300,000
O2Z&2 10HA THoH ol 2 AL 300,000
EN 300,000
StEAMEE 2t 850,000 900,000 250,000
StEAIEESE 02 850,000 900,000 250,000
SHEAMEZESWES 850,000 900,000 A 50,000
308 XXIEHH SOl A 850,000 900,000 A 50,000
02 8+NF= 850,000 900,000 A 50,000
OctEANESEF=UES 850,000
HAE2HZH (KA T D) 76,925 69,425 7,500
Jl2&dl 76,925 69,425 7,500
Jl=Z3 76,925 69,425 7,500
201 et 22,175 22,175 0
01 At 221l 22,175 22,175 0
OJle=+=&Hl 9,050
OJleas gl 13,125
202 O4dl 47,250 47,250 0
01 = LH o4 1l 47,250 47,250 0
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A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

oJle | 47,250

405 TtHabF S| 7,500 0 7,500

01 AL ESH SH 7,500 0 7,500
OHREX 7,500

MEES (RS 12,175,175 17,545,625 25,370,450

HEAHHX = 12,175,175 17,545,625 5,370,450

LHEHHXI = 12,175,175 17,545,625 A 5,370,450

70201238 ES 2,676,000 8,227,000 25,551,000

(RPIE=RSE—= 2,676,000 8,227,000 25,551,000
Ot lI=dE= 2,676,000

705 =3 Acl3&E 9,499,175 9,318,625 180,550

03 Al - EXYHEI IS0 ==d=oE 7,070,000 6,800,000 270,000
OS2Il il = 7 AL (2005) 3,500,000
O==oll &S XN & AR (2011) 1,200,000
Oz=oll &S XN & AR (2012) 1,000,000
OO0l &S XIJH& AR (2014) 1,000,000
O=olaS XM ALY 2 XH2H(2010) 370,000

04 Al - SXHHLII S0l =30l Kt & & 2,429,175 2,518,625 A 89,450
OS2 IdH=7 AL (2005) 122,500
Ol &S XMHA ALY (2011) 294,000
O==oll &S XIJH& AR (2012) 280,000
O==oll &S XIH& AR (2014) 300,000
O=oH&SXIME ALY 2K XHEH(2010) 66,600
O==oll & & XIJH & AHR (2015) 300,000
O=dl&& XM AE (2016) 306,075
ORXI&atE FHIAFR (2017) 200,000
OXl et & & HlAF (2018) 260,000
OXIatA A Hl A (2019) 300,000
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